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INSTRUCTIONS TO CANDIDATES 
Read the following instructions carefully before 

you answer the questions. Answers are to be given on 

a SEPARATE ANSWER SHEET. 

1. Use blue/black ball point pen only. 

2. Write your Roll No. very clearly (only one digit in 

one block) on this booklet and on the ANSWER 

SHEET. 

3. This test consists of 50 questions of one mark 

each. All the questions are COMPULSORY. 

4. Answer each question by darkening the correct 

alternative among the four choices on the 

ANSWER SHEET. 
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Example : 

Correct way : 

Wrong way : 

Note : 

Q. No. Alternatives 

1 0 0 • 0 

Q. No. Alternatives 

1 ®® 0 

Q. No. f-1-*TT 

1 0 ® • ® 

Q. No. fry 

1 ® ® e  

Use of whitener/white fluid is strictly prohibited 

on the OMR sheet for changing answers. It is 

wrong way. 

5. Separate sheet has been provided for rough work 

in this test booklet. 
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1 	 1 	 1 	 1 
1. 	 crt 

 
If -6 of a number is 4 more than its 

0 
 , then 	1. 44R 	 —

9 
‘3.4,4-; —

10 
-Pr 4 3TP.--Z-  

.  

number is : 	 tTft 

(1) 300 (1) 300 

(2) 260 (2)  260 

(3)  460 (3) 460 

(4) 360 (4) 360 

2. 	If x°/0 of x is 25, x will be : 2. qR x 	i x% 25 t, 9 x ,sR1* 	iJrr 

(1) 50 (1) 50 

(2) 40 (2)  40 

(3)  60 (3) 60 

(4) 500 (4) 500 

3 	 3 
3. If —

5 
of a Cistern is filled in 1 minute, how much 	3. 	f-74/ TA *71 —

5 
Wri ITT4 if 1 

more time will be required to fill rest of it : i1-74 `41Tri 	174 if ft -7T "TiTT74 3-itT 		 ? 

(1) 30 second 

(2) 40 second 

(3) 36 second 

(4) 24 second 

4. A train overtakes a person walking at 1 m/s. in 5 

seconds. If the speed of train is 65 m/s. Then, 

what is the length of the train : 

(1) 400 m 

(:.)_) 300 m 

(3) 320 m 

14) 450 m 

5. the mean weight of 21 students is 21 kg. If a 

'student weighing 21 kg. is removed from the 

group then what is the mean weight of remaining 

students : 

(1) 19 kg 

(2) 21 kg 

(3) 20 kg 

(4) None of these  

(1) 30 

(2) 40 Act,u8 

(3) 36 

(4) 24 

	

4.   1 1114 	741c-1 -4 •ticit f 	T't 

5 i4chu8 	TR 	,1141- 	qic 	 

65 11-14I. 	 •;1- 

(1) 400141 

(2) 300 -RI 

(3) 320 it. 

(4) 450* 

	

5. 21 	 'WT TIT-7T (41777) 21 -F- .1J1. 	I ,41;:\  

	

74 21 14).7. 1,71-1 	 r-f--h1c-f 

iitf 'T7,11 1->i afrm-  	 

(1) 19 Fcb.7. 

(2) 21 4.7. 

(3) 20 f*.-7r. 

(4) -11.  A 
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6. If 2" — 2"-1= 4, then the value of 4" will be? 

(1) 1 

(2) 27 

(3) 8  

(4) 64 

6. 2^ — 2^-  1  = 4 74 4n  -wr Trrff 	 ? 

(1)  1 

(2)  27 

(3)  8  

(4)  64 

7. For what value of k do the equation 	7. k 	ft7r =TTY 	f-ffR 	r' 	T1'3 (k — 1) 
3 (k-1)x+4y=24 and 15x+ 20y=8 (k+ 13) 	x + 4y = 24 	15x + 20y = 8 (k + 13) 

have infinite solution ? 	 re 	? 

(1) 2 	 (1) 2 

(2) 1 	 (2) 1 

(3) 4 	 (3) 4 

(4) 3 	 (4) 3 

8. ft-4' c44c1 	.1,14-rd 25% 4-q•iid * I w:111 3v +T 

fenci-rt Ar777 WIT critif -aifg7 	31chi 	dcfrif 

8. The price of an article is increased by 25%. By 

what percentage must its consumption be 

decreased so that the expenditure on it remains 

unchanged ? 

(1) 33 1 

(2) 25% 

(3) 20% 

(4) 10% 

9. Value of : 

1+ 
4 1 

2 
(10 + 2) 

3 

5 — 
1 
2 

(1) 0 

(2) — 1 

(3) 1 

(4) 2 

9. 

(1)  

(2)  

(3)  

(4)  

14 

? 

33  3  

25% 

20% 

10% 

4

3 

1 

2 
(0 ÷ 2) 

2 + 
5 

1 
— —

2 

0r -grrff * ? 
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10. 	If (y + 2) is a factor of y2  + my + 14, then value of 	10. 

m is : 

(1) 	7  

of 	s 

Sri 

(1)7 

-crw y2  + my + 14 wr 	 (y + 2) 	m 

? 

(2) 2 (2) 2 

(3) 9  (3)  9  

(4)  14 (4) 14 

11. The average of first 81 natural number is : 
	

11. 1T-F-A 81We-1W 4(9,413 r341Tm : 

(1) 40 (1) 40 

(2) 40.5 (2) 40.5 

(3) 41 (3) 41 

(4) 42 (4) 42 

12. A sum of money at simple Interest amounts to 

Rs. 815 in 3 years and Rs. 854 in 4 years. The 

sum is ? 

12. '7w 

815V. 

tri-urvr mfr TrItrrtur .,-41,4 it 3 qEi 4 friNqff 

Mil 4 qisi 	fi:m?--Tff 854 V. 1 \Twit 

triurvr -urd 

(1) 700 (1) 700 

(2) 698 (2)  698 

(3)  679 (3) 679 

(4) 689 (4) 689 

13. A person climbs up a pole of 90 meter high, in 

every minute he climbs 15 meter but slips down 

12 meters. How much time he will take to reach 

at the top : 

(1) 30 minutes 

(2) 29 minutes 

(3) 24 minutes 

(4) 26 minutes  

13. Ti oq cid 90 it 	-ural 	y1art, 	mcticb 

cHie 4 15 It. 7:111 	tirl 12 Tft. 914 ?al:ET 

1§P4 trt--44 70 ft-a-  7r ki4i4 

cil1411 ? 

(1) 30 fay 

(2) 29 Pi 	-td 

(3) 24 flild 

(4) 26 	 
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Direction : (For Question No's 14 to 18) 	 177-ff 14"4 18 	fffR 	 : 

In a school total number of students are 1260. 

Following Pie diagram represents different mode 

of transport used by students with the help of 

Pie Chart . Answer the Questions 

-> roNlIzig T1 	11.1 	 1260 

-,41j if -37 *1:4 TO Tra-47 	 414ii 

i" I -P3 	W--TR TR 79T c 	: 

14. No. of students who come to school by car : 	14. cR gi(1Ictsliri4 3T14 ciic=1 	*T-C•O' 	4,1-istt ? 

(1) 315 (1) 315 

(2) 430 (2)  430 

(3)  310 (3) 310 

(4) 415 (4) 415 

15. What is the ratio of number of students comes 

to school by scooter and car : 

15. 1k7a7 77,1 f4-micit{ 3-74aIri T T 33 chR gR1 remmq 

374art c5141W1 3-11,41c1 	? 

(1) 8 : 9 (1) 8 : 9 

(2) 7 : 9 (2)  7 : 9 

(3)  7 : 5 (3) 7 : 5 

(4) 1 	:2 (4) 1 :2 

16. Number of total students who come to school by 
	

16. 	 c;IN gItT 	 3 c4K1 

on their feet or by bus : 	 iit;q1 fwd 

(1) 689 (1) 689 

(2) 710 (2)  710 

(3)  700 (3) 700 

(4) 640 (4) 640 
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17. Number of students who do not come to school 

by bus: 

17. 	z-a• 

3ir4 

,.. 
s;lisi 	Hs,.41 f*--7-91-  * it 	wt-r livliciq .-Q., 1 

: 

(1) 300 (1) 300 

(2) 420 (2)  420 

(3)  460 (3) 460 

(4) 840 (4) 840 

18. By how much percentage number of students 

who comes to school by car is more than those 

who comes by their feet : 

18. 'TR gMfasiiriq 3TT4 .qT wif*T*itssit, kNci ticicht 

aTT4 air) c„91i7 	4(sqi lk f"*""ei 3rruvrff 3TRTT. * ? 

(1) 13.5 (1) 13.5 

(2) 11.5 (2)  11.5 

(3)  12.5 (3) 12.5 

(4) 10.5 (4) 10.5 

19. A purse contains a certain number of coins of 

denominations Re. 1 and 50 paise. The total value 

of the coins (in Rs.) is 14 less than total number 

of coins. Find the number of 50 paise coins : 

19. `ct) "q--1:1 toi 1 MR 50 '44 * to firm fg-qt 

t 1 f7-i-*-1- ,k-04,) 4 .130 --1-ii-  ftzr*bi 	-t---  i.iesql T1 

14 wri *** 1 50 4i) t f14--4zh-1 4-  i-iksqr liel : 

(1) 22 (1) 22 

(2) 28 (2)  28 

(3)  12 (3) 12 

(4) 18 (4) 18 

20. \15\15\[ 	 = ? 	 20. /515 N/545,/ = ? 

31 31 
(1) 5-

32 (1) 
532 

(2) 5 	-32.1  (2)  5 3-321  

(3)  25/ (3) 25/5 

(4) 625 (4) 625 
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21. 60% of 264 is same as : 

(1) 10% of 44 

(2) 15% of 1056 

(3) 30% of 132 

(4) 12% of 144 

21. 264 60% f-*77t ? 

(1)  44 	i 10% 

(2)  1056 	15% 

(3)  132 	30% 

(4)  144 -Ti-r 12% 

For Questions 22 to 25 refer following 	 -I 22 *1 25 	c-14 -14-f fay 	~ tart 

diagram : 	 : 

Read the statement and choose the letter of the 

region which correctly represent the statement 

in venn diagram : 

Hen 

  

	 c 	4 	fr.of 74 f -I 	.T2T9I rst4 T 

,311 -p-TT 	 ch( 	T'r oqci-cf ct-,(;1 

T11 	t drR fi 	 : 

22. Students who took all three subjects i.e. Hindi, 	22. a fa-grzn ,1-11.4 f6-c1, 3P.) zisi 721-r T#zp (.11-4 fq-Erzif 

English and Sanskrit : 
	

fzET i : 

(1) f 	 (1) f 

(2) d 	 (2) d 

(3) e 	 (3) e 

(4) g 	 (4) g 

23. Students who took at least two subjects from 23. 	f4Ert2i1 	cf->44 	4,4-1 

 

 

Hindi, English and Sanskrit :   3f4t 72,TT TtEfff TY 14) : 

(1) e, f and d 
	

(1) e, f •TT d 

(2) a, b and c 
	

(2) a, b 	c 

(3) e, f, g and d 
	

(3) e, f, g 	d 

(4) a, e, f and g 
	

(4) a, e, f 7z4T g 
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24. Students who did not take any of the three 

subjects : 

24. A Foisirql Rg-if4 41-11 rcrigI 

(1) 	d (1) 	d 

(2) 	h (2) h 

(3) f (3) 	f 

(4) g (4) g 

T).  f*711 -0 roqr : 

25. Students who took Hindi and Sanskrit both 	25. A f4M241 r‘Tt-iii 	F6 	-c11:4--d c'141 

only : 

(1) d 

(2) e 

(3) f 	 (3) f 

(4) g 	 (4) g 

26. What number is opposite number 3, if fourdifferent 	26. 414 	LIR) 	f fm-r-d7r1 Tet Trt t, t 
position of a dice are as shown below : 

	
kqa6 	4(S411 3 	fttift tic1tr-{ 4-1-1t kitV41 

	 ? 

(1) 6 

(2) 4 

(3) 3 

(4) 2 

27. Select the answer to substitute I and IV such 

that III and IV is related the same way as j is 

related to TT : 

1 2 - 
I 

a 

F • • I 	? 1 
•  

(1) 6 

(2) 4 

(3) 3  

(4) 2 

27. d 	 IV 'MNI AK -a II MT1 111'4 IV 

	 1:f-4N 

2  • F • • i 	• 7 1 
• •  

;— 	; 	r, A 
IE 	lb I) r‘ I 	iv! I 	Wl I  

ILA! h  Al 
4110  

I  C' 
I 'D
l

I  
r, 1 A 

IV' I  
IP\ 

(1) 	(2) 	(3) 	(4) 	 (1) 	(2) 	(3) 	(4) 

S/51 DES/1 4—MAT—X-2A 
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72 112 128 

_8 24 132 

12 11- 16 

3 p 4 

72 112 128 
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28. Which one will replace the question mark ? 	28. 9--141f-4-th--e:r •57i 	TzTrff*rr ? 

(2) 2 

(3) 3  

(4) 4 

Direction : (Questions 29 — 31) 

A cube of side 10 cm is coloured Yellow with a 

2 cm wide. Black strip along all the side on all 

the face. The cube is cut into '125' smaller cube 

(2) 2 

(3) 3  

(4) 4 

fff-4-gr 	(s-f -{#974t 29 — 31) 

10 'Alt. IFT 	IT.EF '97 W?1 	7'11 trIT TR 

14* 	* "FW9111 17 2 A*. 4141 ct-eicil 

	 TIM 4; '125' vgit4. 	[PE : 
of equal size : 

29. How many cubes have three black face each ? 29. 	fth----d-4 	 ? 
(1) 0 (1) 0 

(2) 4 (2)  4 

(3)  8 (3) 8 

(4) 16 (4) 16 

30. How many cubes have at least one face  

coloured ? 

30. f*---ff4 	-1:1 TTT 	*1:1 

(1) 102 (1) 102 

(2) 98 (2)  98 

(3)  89 (3) 89 

(4) 76 (4) 76 

31. How many cubes are without any colour ? 31. fw:1-4 747 -(1-4 	fTff*-1C4) 

(1) 0 (1) 0 

(2) 14 (2)  14 

(3)  27 (3) 27 

(4) 64 (4) 64 

S/51 DES/14—MAT—X-2B 
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56 

6 

56 

3 

15 
27 

3 9 
15 45 
27 81 
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32. Select the answer which has the same 

relationship to the third figure which is between 

the first two figures : 

Vr  —C.  6  r-  y 	? pm 
I> A 4 

L G- 6 1)-- --, 

32. apt   frwr *-16itT *-4Tfr aTr-t-fu c 	1 *71- fw 

mii34(t- TrITT-6- a-Tr-t-fa-wrvrtaTr-t-tAi: 

7 -0  6 r-  y ? 
› A 4 r-)  

L 0- b 1>- --1 A 
II 	Ill 
	

IV 
	

II 
	

Ill 
	

IV 

-4 
v 

r-  -4 r-  
V 

-1 j 1>-- 
A 

-1 - 

0— c-  j- -0 U- -0 ri- . -40 fa- 

--4 
sq 

r- -4 r-  
V 

-1 j c-- 	-J 
A 

0- 0- -o 0- -e 0._ -0 o- 
2 	3 	4 	1 	2 

	
41- 4- 

	

33. Which one will replace the question mark ? 	33. slq-r f 	4;trr aTRITrr ? 

(1) 16 (1) 16 

(2) 30 (2)  30 

(3)  36  (3) 36  

(4) 40 (4) 40 

34. Which one will replace the question mark ? 
	

34. 51Y-I 	9 on -1 	? 

(1) 18 (1) 18 

(2) 30 (2) 30 

(3) 31 (3) 31 

(4) 23 (4) 23 
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Direction : (Questions 35 — 37) : 	 f gr : (Nqi 35 — 37) : 

Consider a group comprising of 4 students —

Rekha, Babita, Mamta, Neha. Who stand in a 

row. Rekha and Babita stand in sixth and seventh 

from the left. Mamta and Neha stand in the fourth 

and fifth position respectively from the right When 

Babita and Mamta exhange their positions, then 

Babita will be fifteenth from the left : 

35. Originally Neha's position from the left is : 

(1) 5th 

(2) 13th 

(3) 14th 

(4) 15th 

36. After exchange of position between Babita and 

Mamta, Mamta's position from the right is : 

(1) 5th 

(2) 10th 

(3) 11th 

(4) 12th  

-TT 01741 	Y •=r, -qv — 	A-41m, 94-111, AT 75R 

11-7- 4*71-crw3)-17ft4 -(gttili aftT7-4b-rAl 

3-11-{ 	 -T-41-9. 	t'1 1-14-ia( 

311T sh4-Ri: 3-1)7 T-2,TT9' 	w4 

atl-t &Nal 3Tur4 	 c:141* -T4 A- ffT -4Te. 	-{4 

'-i-i. 7-2•TT9. 	3-1T 	: 

	

37. If Neha and Rekha exchange their positions 	37. irs T AT 	(51 aTrErg 7,2Tr9.  vca -a-IT2Trif-d-rcrr t 

	

between themselves, then after the exchange, 	errs, cilq • AT AT tqzIT fP-Trff ? 

Neha's position from the left will be : 

(1) 6th 

(2) 10th 

(3) 11th 

(4) 9th 

38. In a party, there are 7 people. They want to hand 

shake each other, then what is the number of 

total hand shakes : 

(1) 6t 

(2) 10t 

(3) 11t 

(4) gt 

38. 7w (AO 4 7 oe4 	-crw vit TIzT frEdriT 

ato 	-r-{ 7-12T 1-1-14 : 

(1) 56 (1) 56  

(2) 21 (2)  21 

(3)  28 (3) 28 

(4) 42 (4) 42 
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Direction : (Question 39) : 

In the following question, select a figure from 

amongst the four alternatives, which placed in 

the blank space would complete the pattern : 

39. Problem figure : 

f•- •-•Vr : (Wi 39) 

,1q-i 	341--t-t 	i t Tit '41  "F4WF`T 

37-1 P -h ola -4T so-i 3Ft-f-1 	71V a-71 

: 

	 3Trtfd• : 

Answer figure a rts 3Tred : 

1--- 
0 0 . . 

40. Find out which of the answer figure (1), (2), (3), 	40. t 	*k(4-.4 	.1-; 	3Trtt (1), (2), (3) TtT 

(4), complete the given matrix ? 

N, 

V v 
Answer figure 

I 
,. 

(4) TO Thtrft, 	? 

i i , /. 

> -------- 1--) 

? 1 
dvR 3-Thft : 

2 	3 	zi- 
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Direction : (Questions 41 —43) 	 f 	: (,R-1 41 43) : 

In each of the following questions, choose the 

correct mirror-image of the given figure from 

amongst the four alternatives (1), (2), (3) and (4) 

given along with it : 

41. Figure : 

	 0 	-if 	t Tit 3Tr-fia. 	ur MCI GI1-4 

feu (1), (2), (3) (4) -474 14( 	*; Tan 

fc-it -Trirt : 

41. 3T1 Fa 

> 

  

(1) 	(2) 	(3) 	(4) 

42. BRISK 

(1) S I 9 8 

(2) >I 8 I R8 

(3) >18 I 9 8 

(4) K 8 I Si 8 

43. Figure :  

> 

  

(1) 	(2) 	(3) 	(4) 

42. BRISK 

(1) NS, 9 8 

(2) N 8 I R8 

(3) N 2 I 9 8 

(4) K 8 I 9 8 

43. 3-1T-t-t : 

NN
\\
V
A
\ N
W

NN
  

   

• • 1 s 	I 

• • 

.0156  \ 4 /1611i • 

f 	• • • 

• • 
• • cii,,sev  

• . 

• s 



(4) (1) 	(2) 	(3) 	(4) (3) (1) 	(2) 

45. 45. 

2 1, 4 a. 
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Direction : (Questions 44-45) : 

In each of the following questions, out of the four 

figures marked (1), (2), (3) and (4) three are 

similar in a certain manner. However one figure 

is not like the other three. Choose the figure which 

is different from the rest : 

44. 

Mgr : Gol 44 -- 45) : 

1-p-r w A, 7,-t TT- ' t11Z 3-TreTO (1), (2), (3) a  (4) 4  
74 411 ftt 	 •-14 A 	c11.-4 A 

aired 4t 5:911 

44. 

r•-••••,- 	.. 

t- 

\ r............  .. (....7................... \i.  

1 	2 	3 	4 
Direction : (Questions 46 47) 

Select from the alternatives, the box that can be formed 

by folding the sheet shown in the given figure ? 

1 2 3 4 
fir 0 	-?-146 — 47) : 

3-Tr-t-f-ff 	41s.4 Tu. kit Tr it rcillc-41-4 A 

c1-11g11 	 ? 

46. Figure 

2 

1 

4 

6 3 

46. 31-iff 

2 

1 

4 

6 3 



2 1 3 
	

4 
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47. 	 47.  

1 	2 	3 	4 
Direction : (Question 48— 50) :A code language 

has been used to write the words in capital letters 

in English in column 'I' as number letters in 

column 'II'. Number letters in column II do not 

appear in the same order as letters in column I. 

Decode the language and choose the correct 

code for the word given in each question from 

the given alternatives : 

ANT 3 0 7 

TEN 2 3 7 

SUN 3 4 5 

SET 7 5 2 

48. Code for 'A' is : 

(1) 3 

(2) 0 

(3) 7  

(4) 5 

fir : 	48 — 	: ci-)Tc-04 T 

•-toTi.  'II' T4 	3iw'f 	ft71 	 

t .3 	41 7,TI Ti -16 I R4 Tr-4 

Tr-4 aiw 	this f 	Trir Richz.qi 	: 

ANT 3 0 7 

TEN 2 3 7 

SUN 3 4 5 

SET 7 5 2 

48. 	'A' t Frig" : 

(1)  3 

(2)  0 

(3)  7  

(4)  5 

C E 

F 

D 

1  
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49. Code for word 'NUT' is :  49. 'NUT' 41 6 

(1) 432 (1) 432 

(2) 347 (2)  347 

(3)  503 (3) 503 

(4) 724 (4) 724 

50. 	Code for letter 'U' is : 	 50. 31W 'U' foq ails 

(1) 3  (1) 3  

(2) 0 (2) 0 

(3) 5 (3) 5  

(4) 4 (4) 4 

S/51 DES/14—MAT—X-3 
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